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Group 'A' 

tnsf k|Zgsf] pko'Qm ljsNkdf -√_ nufpg'xf];\ .  

Tick -√_ the best alternative for the given questions      (151=15) 

1 = k|of]uzfnf leq ug'{kg]{ k|of]ufTds sfo{ s'g xf] < Which practical work is to be done inside the lab ?  

A. Kofhsf]  sf]ifsf] :nfO8 agfO cjnf]sg ug]{ preparing onion slide and observing it under 

microscope 
B. :ynut e|d0f u/L k|fs[lts ;|f]tsf] klxrfg ug]{  identifying the natural resources from field trip 

C. :yfgLo ;fdfu|Lsf] k|of]u u/L k/df0f' ;+/rgfsf] df]8]n tof/ kfg]{ preparing the model of the atom 

using the local materials 

D. r§fgsf] cWoog u/L ltgsf] u'0f klxrfg ug]{ studying  rocks and explore their properties 

 

2 =jg:klt sf]ifsf] ;a} eGbf aflx/L kq s'g xf] <Which is the outermost layer of the plant cell? 

A. Eofs'n/ lemNnL  Vacuolar Membrane 

B. Go'lSno/ d]Da|]g Nuclear Membrane  

C. sf]if leQf cell wall 

D. sf]if lemNnL cell membrane 

 

3. tnsf] s'g egfOn] d]?b08 ePsf / gePsf hgfj/df km/s b]vfpF5 < Which of the following 

statements show a difference between invertebrates and vertebrates? 

A. d]?b08 ePsf hLjdf /ftf] /ut x'G5  blood is red in vertebrate animals 

B. d]?b08 ePsf hgfj/df /ut /ftf] x'b}g blood  is red in invertebrate animals 

C. d]?b08 gePsf hgfj/df ;fwf/0f cFfvf x'G5  presence of simple eye in invertebrate 

D. d]?b08 ePsf hgfj/df ;+o'St cfFvf x'G5 presence of compound eye in vertebrates 

 

 

  ljBfyL{sf] gfdM  ==============================================================================================================  
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  tkfO{FM s]6f     s]6L        :yfgLo txM================================= 



4. tnsf] b'O :tDedf la?jfdf x'g] laleGg sfo{x? / tL sfo{df ;xof]u ug]{ cªux¿sf] gfd lbOPsf 5g\  .  

The below two columns present some functions in plants and organs related to those functions.       

la?jfdf  x'g] sfo{x? ;xof]uL c+u 

a. vfgf agfpg] (preparation of food)   i. sf08 (stem) 

b. k/fu;]rg (pollination) 
ii. h/f (root) 

c. kl/jxg (transportation)   iiii. kft (leaf) 

d. शोषण (absorption)   iv. k"mn (flower) 

la?jfdf x'g] sfo{ / ;f] sfo{df ;xof]u ug]{ cª\usf] pko'Qm hf]8fx?sf] ;d'x s'g xf] <Which is the correct 

set of pairs of activities in plants and the part that help for that activity?  

A. a-iii, b-iv, c-i, d-ii     

B. a-iv, b-i, c-ii, d-iii  

C. a-iii, b-ii, c-i, d-iv  

D. a-ii, b-iii, c-iv, d-i 

 

5. 7f]; kmf]x/ Jojf:yfkfg cGtu{t -Reduce_ l;4fGtsf] pbfx/0f tnsf dWo] s'g xf] < Which of the 

following is an example of Reduce principle of the method of solid waste management ? 

A. kmf6]sf] sk8fsf] k'5\g] 6fnf] agfpg]  using old clothes for wiping 

B. k'/fgf] sfuhaf6 gofF sfuh agfpg] making new paper from the old paper  

C. ;fdfg lsGg hfFbf cfˆg} emf]nfdf /fv]/ Nofpg] bringing the goods in our own bag while 

shopping 

D. 6'6]km'6]sf Knfl:6ssf ;fdfgaf6 km]/L c? gofF ;fdfg agfpg' making new plastic goods from 

broken plastic items  
 

6. dfly kmflnPsf ;a} a:t' k'g tn emg{'sf] sf/0f s] xf] < Why do all the objects that are thrown  

upward fall down again?  

A. ;]G6«Lk]6n an (centripetal force)  

B. u'?Tj an (gravity) 

C. ;]G6«Lˆo'mun an (centrifugal force) 

D. 3if{0f an (frictional force) 

 

7. uf8L 'A' n] b'O{ 306fdf 40 Km b'/L kf/ u/]5 eg] uf8L 'B' n] kfFr 306fdf 100 Km b'/L kf/ u/]5 . 

tnsf] s'g egfO{ ;xL 5< If vehicle 'A' covers 40 Km in two hours and vehicle 'B' covers 100 

Km in five hours. Which of the following statements is correct?  

A. uf8L 'A' sf] ult,uf8L 'B' sf] eGbf a9L 5 . Vehicle 'A' has more velocity than vehicle 'B'.  

B. uf8L 'B' sf] ult uf8L 'A' sf] eGbf a9L 5 . Vehicle 'B' has more velocity than vehicle 'A'.  
C. b'j} uf8Lx? 'A' / 'B' sf] ult a/fa/ 5g\ .  Both vehicles 'A' and 'B' have equal velocity. 

D. b'j} uf8Lx? 'A' / 'B' sf] ult ;'Go 5g\ .  Both vehicles 'A' and 'B' have zero velocity. 



8. t/+usf] cfj[lQsf] SI PsfO s'g xf] < What is the SI unit of the frequency of the wave ?  

A. ld6/ (meter) 
B. ld6/÷;]s]G8 (meter/second) 

C. 8]l;an (decibel) 

D. xh { (hertz) 
 

9. tn lbOPsf] lrqdf cfkltt sf]0f i= 400 eP k/fjlt{t 

sf]0f r sf] dfg slt xf]nf < If incidence angle i = 

400, what is the value of reflective angle r?     

A. 900 

B. 1800 

C. 500 

D. 400 
 

10. dfgf}F tkfO{;Fu Pp6} Aof6«Laf6 klg rNg ;Sg] 6r{ / rf/ cf]6f Aof6«Lx? 5g\ . nfdf] ;do;Dd 6r{ afNg\ 

k/]df tL Aof6«Lx? s;/L h8fg ug{' x'G5 < If you have a single-cell torch and four cells. How do 

you connect those cells to glow your torch for  longer time?  

A. >]0fLqmd h8fg series combination 

B. ;dfgfGt/ h8fg parallel combination 

C. ldl>t h8fg mixed combination 

D. ;/n /]vLo h8fg linear combination 
 

11. 9'+uf kfgLdf lsg 8'A5 < Why does a stone sink in water?      

A. kfgLsf] 3gTj 9'+ufsf] 3gTj eGbf a9L eP/ Water has more density than stone  

B. 9'+ufsf] 3gTj kfgLsf] 3gTj eGbf a9L eP/ Stone has more density than water 

C. 9'+uf / kfgLsf] 3gTj a/fa/ eP/ stone and water has equal density  

D. 9'+ufsf] 3gTj z'Go eP/ stone has zero density 
 

12. lrqdf s]xL k/df0f'sf Go'lSno;x? b]vfOPsf 5g\ . tL dWo] ;a}eGbf a9L kf/df0fljs ef/ x'g] tTj s'g 

xf] < Nucleus of some atoms are shown in the diagram given below .Which of them has the 

greatest  atomic weight ?  

 

                        

          

A. Element (tTj) i 

B. Element (tTj) ii 

C. Element (tTj) iii 

D. Element (tTj) iv 

n0=8 n0=7 n0=6 n0=5 

Element (tTj) i Element (tTj) ii Element (tTj) iii Element (tTj) iv 



13. tnsf dWo] s'g of}lus xf] < Which of the following is a compound?  

A. clS;hg (Oxygen)   

B. tfdf (Copper)  
C. kfgL (Water)   

D.  kmnfd (Iron)  

 

14. bfjfn] ln6d; k]k/ lnP/ s]xL 3/fo;L /;fogx? k/LIf0f u/L tnsf] tflnsfdf glthf e/] . o; j|mddf 

p;n] b'O{cf]6f k/LIf0fsf] glthf q'l6 e/]sf] /x]5 . Dawa tested some chemicals used in daily life 

with the help of litmus paper and recorded the result in the following table. He made two 

mistakes while keeping records.   

kl/If0f 

Test 
/f;folgs kbfy{ Chemicals 

k|of]u ul/Psf] ln6d; k]k/ 

Litmus paper used  
glthf Result 

1 sfutLsf] /; (Lemon juice) /ftf]  (Red) 
lgnf] (Blue) 

2 r's cldnf] (vinegar) lgnf] (Blue) 
/ftf] (Red) 

3 ;fa'g (soap) /ftf] (Red) 
lgnf] (Blue) 

4 v/fgL (Ash) lgnf] (Blue) 
/ftf] (Red) 

 

s'g s'g k/LIf0fsf] glthf ;xL 5 < Which test results are correct? 

A. k/LIf0f (test) 1 / 2  
B. k/LIf0f (test) 2 / 3   

C. k/LIf0f (test) 3 / 4 

D. k/LIf0f (test) 1 / 4  

15. tnsf dWo] s'g r§fgdf hLjfjz]if e]l6g] ;Defjgf /x]sf] x'G5 < Which of the following rocks is 

possible for finding fossils?  

A.      cfUg]o r6\6fg Igneous rock 

B.      Kn'6f]lgs r6\6fg Plutonic rock 

C.      kq] r6\6fg Sedimentary rock 

D.      kl/jlt{t r6\6fg Metamorphosis rock 

 

 

 

 



Group-B 

1= k|of]ufTds sfo{sf] kl/efiff n]Vg'xf]; . Write the definition of practical work.  (1)  

 

…………………………………………………………………………………………………

………………………………………………………………………………………………… 

2= k|of]uzfnfdf k|of]ufTds sfo{ ubf{ ckgfpg' kg]{ s'g} Ps ;fjwfgL  n]Vg'xf]; . Write any one safety 

measures to be followed in laboratory while doing practical work.    (1) 

…………………………………………………………………………………………………

………………………………………………………………………………………………… 

3 =Og6/g]6sf] k|of]u u/L taxonomy zAbsf] cy{ vf]Hg] k|lqmof n]Vg'xf]; . Write a procedure to find the 

meaning of the word taxonomy using internet.  (1) 

…………………………………………………………………………………………………

……………………………………………………………………………………………… 

4. k|fs[lts ;|f]tsf] ljgfzsf] s'g} Ps sf/0f n]Vg'xf]; . Write any one cause of the depletion of the 

natural resources.  (1) 

…………………………………………………………………………………………………

………………………………………………………………………………………………… 

5. lg:sf;g k|lj|mofsf] kl/efiff n]Vg'xf];\ . Write the definition of the excretion process.  

 (1) 

…………………………………………………………………………………………………

………………………………………………………………………………………………… 

6. dfgj :jf;k|:jf; k|0ffnLcGtu{t kg]{ s'g} Ps efusf] lrq agfpg'xf];\ . Draw a diagram of any one 

organ of the human respiratory system.  (1)  

 

 

 

 

 

 

 

7. tfk / tfkqmd Psfk;df ;DalGwt eO{sg klg km/s 5g, o; egfOnfO{ b'O{ tYo ;lxt k|dfl0ft ug{'xf];\ . 
Though heat and temperature are related to each other, they are different physical quantities, 

justify with two points. (2) 

………………………………………………………………………………………………………

……………………………………………………………………………………………………… 



8. ef]h uP/ cfPsL ;latfnfO Uofl:6«ssf] ;d:of eO/x]sf] 5 . pgsf] ;d:of x6fpg b'w, sfutL kfgL, 

;f]8f kfgL, sfnf] lrof dWo] s'g lkpg' pko'Qm xf]nf < Sabita is suffering from gastric after 

returning from a feast. Which drink milk, lemon juice, soda water or black tea would relief her 

gastric problem?  (1) 

…………………………………………………………………………………………………

………………………………………………………………………………………………… 

9= h'lk6/ / zlg' u|x lar Ps leGgtf n]Vg'xf];\ . Write any one difference between Jupiter and 

Saturn.   (1) 

…………………………………………………………………………………………………

………………………………………………………………………………………………… 

 

 


